6-6 Take a binary list as the storage structure, try to implement an algorithm to find the depth of a binary tree.
6-8 Try to implement an algorithm to determine whether two binary trees are equivalent. Binary trees T1 and T2 are called “equivalent”, if they meet the following conditions: both T1 and T2 are empty binary tree; or the roots of T1 and T2 have the same value, and the left sub-trees of T1 and T2 are equivalent, right sub-trees of T1 and T2 are equivalent.

6-11 Inorder traversal sequence and postorder traversal sequences of a binary tree are respectively known as BDCEAFHG and DECBHGFA, try to draw the binary tree.
6-16 Convert the forest shown in Fig.6.24 into a binary tree.
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Fig.6.24

6-20 Given weights of 7, 18, 3, 32, 5, 26, 12, 8, construct the corresponding Huffman tree and Huffman codes.

